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David currently has a square garden. He wants to redesign his garden and make it into a
rectangle with a length that is 3 feet shorter than twice its width. He decides that the perimeter

should be 60 feet.
Determine the dimensions, in feet, of his new garden.

Show your work.

Answer
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Common Core Learning Standard Assessed: 8.EE.7b

Solve linear equations with rational number coefficients, including equations whose
solutions require expanding expressions using the distributive property and collecting like
terms.
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David currently has a square garden. He wants to redesign his garden and make it into a
rectangle with a length that is 3 feet shorter than twice its width. He decides that the perimeter
should be 60 feet.

Determine the dimensions, in feet, of his new garden.

Show your work. .
w = width 2w — 3 = length
2w — 3 = length 2x11-3=22-3=19
P=2xQ2w—-3)+2xw =60
4w — 6+ 2w = 60
6w —6 =60
6w—-6+6=60+6
6w = 66
6w 66
6 6
w=11

Answer Width = 11 ft; Length = 19 ft
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David currently has a square garden. He wants to redesign his garden and make it into a
rectangle with a length that is 3 feet shorter than twice its width. He decides that the
perimeter should be 60 feet.

Determine the dimensions, in feet, of hIS new garden.

I
Show your work. H\ an-f) . ah -(b
b\Ji the =l N n

An -2

Answerm [l leh@}h --:mD

Guide Paper 1
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Paper RF Number Score Notes

- ——— —————————— |
go1 N/A > Score Point 2

This response answers the question correctly and
demonstrates a thorough understanding of the
mathematical concepts. The lengths of each side are
shown in terms of n (n, 2n-3) and are correctly used
with the given perimeter to solve for n. The answer
for both dimensions is correct. Units in the answer
are not required since the question directs students
to “determine the dimensions, in feet...”
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David currently has a square garden. He wants to redesign his garden and make it into a
| rectangle with a length that is 3 feet shorter than twice its width. He decides that the
perimeter should be 60 feet.

Determine the dimensions, in feet, of his new garden.

Show your work.

S=width I

1'Xh3: \enﬁjf\ﬂ QX’ ‘3

UK 73
X
R S

Answer “It)t; \q i:# 6)( ~(

A0~

@X r\i:é
N3 =19 e yo

Y
o -

X= |

Guide Paper 2
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Paper RF Number Score Notes

- ——— —————————— |
902 N/A > Score Point 2

This response answers the question correctly and
indicates that the student has completed the task
correctly, using mathematically sound procedures.
The lengths of each side are correctly shown in terms
of x and are appropriately used with the given
perimeter to solve for x. The answer for both
dimensions is correct.
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David currently has a square garden. He wants to redesign his garden and make it into a
rectangle with a length that is 3 feet shorter than twice its width. He decides that the
perimeter should be 60 feet.

Determine the dimensions, in feet, of % new garden. é{ﬂ h: (4

Show your work. s v W, / L=l
2w
lengi o3

Lodaz (oo = (@0

Yo *©

"-_________.._.————_n
—~
/‘Z;_" C

Answer /9Lt 0 11EL

Guide Paper 3
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Paper RF Number Score Notes

- ——— —————————— |
go3 N/A > Score Point 2

This response answers the question correctly and
demonstrates a thorough understanding of the
mathematical concepts. The lengths of each side are
correctly shown in terms of w and are used correctly
with the given perimeter to solve for w.
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David currently has a square garden. He wants to redesign his garden and make it into a
| rectangle with a length that is 3 feet shorter than twice its width. He decides that the
perimeter should be 60 feet.

Determine the dimensions, in feet, of his new garden.

Show t\:ur work. TQ _} . l 6_ O 'Feé’/ 1‘_

X {;);"6569

£r = 6°
6 6
Answer X:j 1 X _':"/}

Guide Paper 4
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Paper RF Number Score Notes

- ——— —————————— |
904 N/A 1 Score Point 1

This response is only partially correct and correctly
addresses most elements of the task. The length of
each side is correctly determined in terms of x and
the equation is set up correctly and solved for x.
However, the value given for x is not used to
calculate the length of the garden, (2x — 3).
Therefore, only one dimension — the width — is given
in the answer. The absence of units in the answer
does not detract from the demonstration of
understanding.

Page 11



David currently has a square garden. He wants to redesign his garden and make it into a
| rectangle with a length that is 3 feet shorter than twice its width. He decides that the
perimeter should be 60 feet.

Determine the dimensions, in feet, of his new garden.
Show your work. L \
Nz gl |,
2 -
o v
Dt :}Jé\ L
Q 225

i oo widdh | Bt

Guide Paper 5
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Paper RF Number Score Notes

- ——— —————————— |
go5 N/A 1 Score Point 1

This response shows only partial understanding and
contains correct numerical answers, but the required
work is not provided. The correct numerical answers
are given and a check of the answers is provided.
However, it is not clear from the work provided how
the width (11) was initially determined.
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: perimeter should be 60 feet. -

Determine the dimensions, in feet, of his new garden.

Show your work.

Answer )(... '77
[ 7" —

Guide Paper 6
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Paper RF Number Score Notes

- ——— —————————— |
906 N/A 1 Score Point 1

This response is only partially correct and
demonstrates only a partial understanding of the
mathematical concepts. The rectangle’s length and
width are incorrectly expressed as x and x-3,
respectively. However, these incorrect expressions
are then correctly used in the perimeter equation,
solving x = 66/4. The calculations are incorrectly
completed.
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g David currently has a square garden. He wants to redesign his garden and make it into a
= rectangle with a length that is 3 feet shorter than twice its width. He declides that the

| perimeter should be 60 feet.

Determine the dimensions, in feet, of his new garden.

Show your work.

%O-'ZXJ@ £0=2(285k3
S 607572

2z 2z (0=60

735=X
| 289X27 776

Amwerlﬁ“'ﬁzzg.Sf“' L cfgth
Wixkh=1.
=g £y 3 lefi ove

322 =) AR 12 o

Guide Paper 7
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Paper RF Number Score Notes
= |

907 N/A 0 Score Point O

This response is incorrect. The incorrect equation is
used for perimeter and the procedure used to
determine the width is not sufficient to demonstrate
even a limited understanding of the mathematical
concepts.

Page 17



i David currently has a square garden. He wants to redesign his garden and make it into a
= | rectangle with a length that is 3 feet shorter than twice its width. He decides that the
perimeter should be 60 feet.

Determine the dimensions, in feet, of his new garden.

B &
Ly~ > Y- 2%-3
X Ly

Show your work.

. Y
_ I
Answer \!C @ Q) X"" G)

Guide Paper 8

Page 18



Paper

g08

RF Number

N/ZA

Score

o

Notes

Score Point O

This response is incorrect. The correct dimensions are
determined in terms of x and the four sides are
added. However, this expression (6x-6) is never
equated to the value given for the perimeter and no
final values are determined for the dimensions. While
this response contains some correct mathematical
procedures, there is not enough work completed to
demonstrate even a limited understanding of the
mathematical concepts embodied in the task.
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David currently has a square garden. He wants to redesign his garden and make it into a
| rectangle with a length that is 3 feet shorter than twice its width. He decides that the

perimeter should be 60 feet. 3 21
Determine the dimensions, in feet, of his new garden. P , 7
Show your work. —
1=3-2n 3 -2n
2Byl
G- 4 Serna s 6o
- ’2’ - 4
;_éb - T3 3 24t G G
— _""‘:-q_.____:\:;\\
on- Sk
<3
—_
Answer ) =/ 57_3 Y,

Practice Set 1
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1 David currently has a square garden. He wants to redesign his garden and make it into a
| rectangle with a length that is 3 feet shorter than twice its width. He decides that the
perimeter should be 60 feet.

Determine the dimensions, in feet, of his new garden.

Shwb:?:;:"::‘ 5 2 X (2 w-3S + l«.J)
leasth 1s | = 2y -3 2 x (Bw—&')
P =¢o bw-4 =¢0

6w =64

W =7/

Answer // ak /?

Practice Set 2
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1 David currently has a square garden. He wants to redesign his garden and make it into a
| rectangle with a length that is 3 feet shorter than twice its width. He decides that the
perimeter should be 60 feet.

Determine the dimensions, in feet, of his new garden.

Show your work. )(:_': Le> |A+ I,\_EZ

Practice Set 3
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David currently has a square garden. He wants to redesign his garden and make itinto a

1 ' rectangle with a length that is 3 feet shorter than twice its width. He decides that the

| perimeter should be 60 feet.

Determine the dimensions, in feet, of his new garden.
Shuwyourwork: Q\}( ”'3)—)}-){ _ (lo
(= wWidth -
x>z O
Qx =3 length 3o D
2(21)-3 Hﬁ,,,ﬂﬂfff”fﬂﬂfﬁ__
= b2

e 3

Answer (4 /(U= 2} £+
length = 3944

Practice Set 4
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David currently has a square garden. He wants to redesign his garden and make it into a
rectangle with a length that is 3 feet shorter than twice its width. He decides that the
perimeter should be 60 feet.

Determine the dimensions, in feet, of his new garden.

ey width = 1{eg+
2=
2 1-2 YL =30 1) 2 -3 = d
27241737 +% T
5y 27 <poth 21l
72 = 1S

yiohhs “*ﬂ@jﬂ’
Answer |7 ﬂ{fr']'i’f'i?- ]C’iﬂ.f.”.’}'{%

Practice Set 5
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